Лист взаимопроверки.

Ответы 1 варианта.
	Запись решения
	Количество баллов за верный ответ

	1) Накрест лежащие углы: (6 и(7; (2и(3.

    Односторонние углы: (2 и (7; (6 и(3.
	2 балла
2 балла

	2)а)т.к. (4=(6=350(накрест лежащие),то а║b.
б) т.к(4=(2=400, (6=1800- 1400=1600, (4=(6(накрест лежащие),то с║d.
	2 балла
2 балла


         Лист взаимопроверки.

Ответы 2 варианта.
	Запись решения
	Количество баллов за верный ответ

	1)Накрест лежащие углы: (4 и(8; (2и(7.
    Односторонние углы: (1и(8; (2и(5.

                                         (3и(7; (4и(6.
	2 балла
2 балла

	2)а)т.к. (4=(6=1000(накрест лежащие),то m║n.
б)т.к. (4=500, (8=1800-1300=500,

(4=(8(накрест лежащие),то а║b.
	2 балла
2 балла


